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And if you — %15 m2970 w2 WK TIAR IR TIAT RIPT DB TAYT K90 ONY
assume that there is no rule of X''X», then even by two scrolls, etc.

OVERVIEW

"R cited the ruling of XMW that by M3 2 we divide, in order to prove that
XM maintains X"X3 (for otherwise why do they divide). maoIn explains the proof
and subsequently refutes it.

— PIYAY NN TARY 12 PPYINT PHYT RPYO XY
We are currently assuming (when offering the proof that there is X"Xx7 X1°7) that

there is a requirement to divide since (even if only) one of them wants to divide -
ALY YWHIN? 11)2 9NN NIV NN TANI 2INI PNY THR 7929 N7 513292 /1)

And (we are also assuming) that the case of two n12°92 is similar to the case of
one T2 (where the ruling is Y2171 X?), meaning that whatever is written in one
772 is not written in the other, for instance one was a 77> of Y@y X°21 and the

other 775 of ®R¥® X215 and if there no rule of X"X -
— 1Y DPNR N BN Y¥3 1PN INDIN)

So why must they divide against their will (where one refuses to divide), since

the two NM12°7> are not equal!
— 22938 IN 19T NPT $IN INTY NIN

But rather we must conclude that that we rule X''Na.

nooIN asks:
— PPYIN INNN TN IN N7 NI 1IN 1D29N 99NN ON)

And if you will say; even if we rule X'"&3, nevertheless, why do they forcibly

divide the two 090 -
— “m‘nb? INNY 19998 1199 A2 PPNV N N2 NIV VD

Since what is written in one is not written in the other, so both 0150 are

"If we would have divided the one 773, the contents of both halves of this 772 would have been different; therefore
when we differentiate between one 772 and two 2°27) it is assumed that the contents (of 0°372 '2) is different
(otherwise 28nw should have said, 172717 21w 2°273 '22 LR 211w 0°973 "1w32 RHR W),

2 See P91 "7 >"wA. The one who does not want to divide can claim, one book is more valuable than the other, and I
do not want to pay you, so I can have the more expensive 790, and I do not want to receive payment from you and
have the less expensive 790. I am satisfied that they both belong to both of us.

? Therefore the one who does not want to divide has the choice of either offering a payment for the more expensive
790 or accepting that same amount and relinquish the more expensive 190, but divide he must!

* The xm later (on this 7my) states that if both partners require the services of two maids (who do different
functions), there is no X"X3, since *Ri171 °X12 °3°1% 17>17n. The same should apply here.
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needed by both parties?!

N1B0IN answers:
— SRP099) MY K8 MNT MY Y

And one can say; that indeed the X713 could have responded to this proof, by
saying T»yw 9, and according to you (that X127 X1°7 n°R) is it understandable!

MoOIN corrects a textual error:
— TR IN TINT NIYT Y 1Y POYT RPYD IN) 85990 VIYN VNIV NN NN D) KDY

And the X713 does not read here as it is written in a minority of texts; ‘and if

you assume there is no X''R37T K137, so -
= INND 19994 119991 INNY 95998 119NN Y391 D

Just like both are needed to one, so too both are needed for the other’; this

concludes the erroneous X073, This X073 is incorrect -
—INNDY INNY 1179995 99998 KDY INT )9V Y5 NNT

For certainly if both n12°7> are not needed to both partners, then -
PPN INNN TR IN AT NPT 799 195 X 7959 290 799
The question of ‘why divide’ if there is no rule of X''R3, is much stronger.

SUMMARY
The purported proof of »2X assumed that the N13°72 "2 were different 2°750 and only
one wanted to divide. There is no X"&3 if 131 °X7% 277% 17»>M7N.

THINKING IT OVER

In a case of "21 °Ki% *27 171770, where we do not say X"X3, does that mean that
there is no X"XX to divide, but there is X"Xx for both items (as one), or there is no
"X at all (even for both items as one)?®

> moon acknowledges that indeed there is no valid proof since 121 *X712 %2 37170, and the x»3 could have refuted
the proof in this manner; however, the X3 chose to give the proper explanation that they can divide only if they
both agree (whether we maintain X"X3 or not).

6 See P91 "7 >"w1 who concurs with 'oIn.

7 The intent of »ax is to prove that 9W»w maintains X" (for only if we maintain X"X3 can we understand the ruling
of PXmw by M>™> '3). This proof is better if we ignore X777 *3°1% 17170, and assume that *Ri7? 17170 *>1% R, for if
K77 °3"% 710N then even if we maintain X"X3, we still cannot explain the ruling of 7Xmw (footnote # 4 & 5).
However if we can assume that >X7% 2°7% &2 %7110 then s™Xmw ruling is explained if we maintain X"X3. [See
X"w"n for an alternate explanation. ]

¥ See 5 M 7"2%0.
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